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QAT 397 :
() FATF-TTH FA30 T &1 G4 J97 SifGard & |
(i) FAF J97 & Hk 3G G 7T 7T &

(i) F99 T&1 1 T8 % 37 oT-ITIT J97 &1 JoIF F97 1 3% F &

(iv) T97 G&T 9 T 20 TF A% J97 8 3 FT &1 379 G % J97 & IR 80 T T 37feh
&7 Tel &Il FMeT |

() F¥TGEI219 28 T ToUF G975 3 FT &1 576 G Jedah §97 7 SR 100 V=51 T 371
&7 781 &I aeq |

(vi) T¥T & 29 3R 30 FIETT SR YT & HHIF a6 97 T 3 31 & &1 §% T3 B

& dlg, HFEA] F FT-YIEIH & 3757 7] B GHT |

General Instructions :
(1) The question paper has 30 questions in all. All questions are compulsory.
(i1) Marks are indicated against each question.

(iit) Questions from serial number 1 to 8 are Very Short Answer Questions. Each question

carries 1 mark.

(iv) Questions from serial number 9to 20 are 3 marks questions. Answers of these questions
should not exceed 80 words each.

(v) Questions from serial number 21 to 28 are 5§ marks questions. Answers of these

questions should not exceed 100 words each.

(vi) Question number 29 and 30 are map questions of 3 marks each from History and

Geography both. After completion, attach the maps inside your answer-book.
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1. ' i Sihdl € A1 SRl AT R TS JhM o ST § ' IS U fReeRT § 2 1
areran

forra=m ® fohe &RT ! ‘ShidiA ' GehRT ST o1 ?

Who remarked “ when France sneezes the rest of Europe catches cold”.
OR

Who were called colons in Vietnam ?

2. TYTH &Y H IUA! & STINT hl | g ed hiAl TME ? 1
Why should the use of cattle cake as fuel be discouraged ?

3. TA™ IRl SR USHifaeh Sall § Teh 3T T RIS | 1
Distinguish between pressure groups and political parties by stating any one
point of distinction.

4. YNd 3 G YOI hl Rl STIAT? 1

Why did India adopt multi-party system ?

5. a7 fovm & <1 fea 9@l & W fafew | Lo+ le=1

Name any two sectional interest groups.

6. T HHU ST HETeTT T HREM 3 &3 B 1 Tiod i € e se 9™ 1
TS 3= GEy 95 fyerq €2
Why do MNCs set up their offices and factories in those regions where they get
cheap labour and other resources ?

7. Ifc TR GRI ST 1 1S &1fd UgaTs T8 €, O fore Susliert AR & st=vfa 1
T THAM I TR o fTT ITHTRT AT ST Hehell © ?

If any damage is done to a consumer by a trader, under which consumer right

one can move to consumer court to get compensation.

32/1 3 P.T.O.
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8.

10.

11.

12,

13.

32/1

Ul o ST Sl w1 1 Jumed! R TR 1 A €2 1

Why is the supervision of the functioning of formal sources of loans necessary ?

*1830 1 391 AT H 9RY il swicreal ot '’ | qent dfed He &t gfte

ST | 3x1=3
AYAT

“2 = T e w9 ol & favg gg # fomatiEl & fau avwe fag

B3| okl Wfgd e ot gfe Fife |

“The decade of 1830 had brought great economic hardship in Europe”. Support

the statement with arguments.

OR
“The Ho Chi Minh Trail became advantageous to Vietnamese in the war against
U.S.” Support the statement with arguments.

ST H ' TeEl sTiale’ % SRM fhd TR w1 SUeT TIR fha 7o a1 ? st 7
fergroreei =1 T hIfST | 1+2=3

What type of flag was designed during the ‘Swadeshi Movement’ in Bengal ?
Explain its main features.

"o § ST TG ST TR T % foeRl SR WRS o 9K oAU ot 3
STEYROT oft | qeh QoY U i I HIfT |

“The plantation workers in Assam had their own understanding of Mahatma

Gandhi and the notion of Swaraj”. Support the statement with arguments.

%ol U o I o SHR T &M ! SMhd HITT | F Toh g H hdl e €2

Classify industries on the basis of source of raw material. How are they different
from each other ? 1+2=3

‘R I H T oh G THRT T ITAN 9 W | ol il I9d SR Smell o [Th™
A Ui 7R o faenfad S i g SATawashdl ¢ |’ 39 Sad qHe o AR
o T ®1E T ST FEET IR 3% T Hifer | 3x1=3

‘Consumption of energy in all forms has been rising all over the country. There

1s an urgent need to develop a sustainable path of energy development and
energy saving’. Suggest and explain any three measures to solve this burning
problem.
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14.

15.

16.

17.

18.

19.

20.

32/1

aRd § i faen & R Scosl Taieuia feenor &1 8 & & fau e
T 3uT gy | 3x1=3

Suggest any three steps to minimise the environmental degradation caused by
the industrial development in India.

& TeTifdeh aret 9 = fuE €2 ¢ &g Totideh 9Iel’ okl Wl W i
% T STavaesh M1 1 Seei@ hited | 1+2=3

What is meant by regional political party ? State the conditions required to be
recognised as a ‘regional political party’.

S(ed SaTe FHE T T 7 3Teh! h1d JUEH! 1 J0M HIFT | 1+2=3

What are public interest pressure groups ? Describe their functioning.

39 IRA H TSTHITGh Sl o THE DA | G A TIHd Hid © 7 30 fo=R
fafeaa | 1+2=3

Which three challenges do you feel are being faced by political parties in
India ? Give your opinion.

‘SR H ST T TE AT STHTRdl & -1 T % T feqaR €771 weUd &
I I | 3x1=3

“Deposits with the banks are beneficial to the depositers as well as to the nation”.
Examine the statement.

AT o d1E TR TR 1 faesr =R iR faesh faw w yfasy =i am few 3
9?7 FHRON 1 favaryor sifs |

Why had the Indian government put barriers to foreign trade and foreign
investments after independence ? Analyse the reasons.

‘TSR H Suiere T GReN & oy frem iR fafm #i sevasa et 8177 5
HYA ! TG 33 | 3x1=3

“Rules and regulations are required for the protection of the consumers in the

market place.” Justify the statement with arguments.

5 P.T.O.
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21.

22.

23.

24.

32/1

i | A 3 Ias i T fRar o1 TR WemEtTe & § 38 i
gl &1 wuEe foea a8 O e sifyss TeheTd 3R F3ra a9 Wk | To!
qfed 36 U I fawei o Sifs | 5x1=5

YAt

“fer ® et wnfa aratent 3 fagaam 1 favse e o sfomresyg =328
HEAIS i e 7 faaa ™ ®l g &5 § a5 faan)”’ ol died 36 KU H
fargeroor Sifsa |

“Napoleon had destroyed democracy in France but in the administrative field

he had incorporated revolutionary principles in order to make the whole system
more rational and efficient.” Analyse the statement with arguments.

OR

“The peace negotiations in Geneva followed the division of Vietnam that set in
motion a series of events that turned Vietnam into a battle field.” Analyse the
statement with arguments.

TEIcAT el 3 TfgTa AT TSI ! 999 o a1 70 &) foran 2 oaw wifsiu |

Why did Mahatma Gandhi decide to call off the Civil Disobedience
Movement ? Explain. 5x1=5

@Gfsil & GI&TUT 1 e T ShifS8 | 3= U1 i & fau fe=i 9 suri &
SSIRIES 5F;||:T‘|Q| 24+3=5

Explain the importance of conservation of minerals. Highlight any three
measures to conserve them.

IRA § e TRRaed a1eft off Yo ufee &t ordan 1fyss glagse g1’ dehl |fed
39 HYA 1 g9 HIfT | 5x1=5

“Roadways still have an edge over railways in India.” Support the statement
with arguments.
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25.

26.

27.

28.

29.

32/1

Aifefoan & Tenfyd oS &1 guiq Shifsu | B

Describe the popular struggle of Bolivia.

“ Arehas & TAT TSTaeh Tl BT BT STk I © 1’7 39 hYA 1 3STeuil |igd
farseroor sifsT | 5x1=5

“Political parties are a necessary condition for a democracy”. Analyse the
statement with examples.

=i & o 01l i fhd YR e fohdm! 3Tk Weigl & T aveit s

ST Gehdl €7 1S Ui SUTE e | 1+2+2=5

How can the formal sector loans be made beneficial for poor farmers and
workers ? Suggest any five measures.

TR TefeTa®en I S¥aiehiul & JUTa ohl SSELUN Hied du hifu | 5x1=5

Describe the impact of globalisation on Indian economy with examples.

T <8101 A, B 3R C R & fou T4 Terifaes War-amfes (T8 9 W), | sifed feu
T 1 39 Ao 1 frefafaa SRt i geEar 9 g ok S % WE A
e | S 18 W W fafeu . 3x1=3

A, O% T S gdl el foa el 7 e faa o

B. 9% TIM S AN 3TiSeH a19d o ¥ g |
C. % M SRl YRdT AT HIT T ST gam ol

Three features A, B and C are marked on the given political outline map of
India (on page 9). Identify these features with the help of the following
information and write their correct names on the lines marked in the map :

A. The place where cotton mill workers organised Satyagraha.
B. The place related to the calling off the Non-Cooperation Movement.

C. The place where the Indian National Congress Session was held.

7 P.T.O.
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frefafed we o gleanfera gienfefar & fau ye 9@ 29 & TR W E
29.1) 39 TR &1 A fafan, 7 ¥t woer e Aol 3 gemE fha o
(29.2)  STHEAN TSI i A9 o4 § GHE¥d TH o1 AW fafaw |
29.3)  feuweR 1920 # WRAT T KT 1 TS el g o1 ?

Note :  The following questions are for the Visually Impaired Candidates only

30.

in lieu of Q.No. 29 :

(29.1) Name the city where cotton mill workers organised Satyagraha.
(29.2) Name the place related to the calling off the Non-Cooperation
Movement.

(29.3) Where was the Indian National Congress Session held in
December 1920 ?

ne o

IR o U 7T TerHifaes War-wmfast (728 11 W), | Fefafed =1 sugesw == 9
TIMET 3R 9+ 7 fafew . 3x1=3
A, dd & - feeg

B. gl 9 39 947 - fyag

C. YqE §Ygl U - il

On the given political outline map of India (on page 11), locate and label the
following with appropriate symbols :

A. 01l Field - Digboi

B. Iron and Steel Plant - Bhilai

C. Major Sea Port - Kochi

frefafaa e oo gfeanfem gaemfefar & o 99 9& 30 & H W E
30.1)  femeE 9o & form Toa H fee@ €2

(30.2) 39 =¥ w1 9 fafgy, Sl faar «er 3T soqra 9+ froq ® 1
(30.3) WA o Y&l de W feerd ol <faroft gy et gw o1 9 fafeu

Note :  The following questions are for the Visually Impaired Candidates only

32/1

in lieu of Q.No. 30 :

(30.1) In which state is Digboi oil field located ?

(30.2) Name the state where Bhilai Iron and Steel Plant is located.

(30.3) Name the Southernmost major sea port located on the eastern
coast of India.


https://byjus.com/?utm_source=pdf-click

m BYJU'S
The Learning App
|
|
?‘({ 94 . 29 * rﬁﬂ For question no. 29
|
: WA HT YET-AERE ( TSR )
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